

$$\lim_{x \rightarrow -\infty} (\sqrt{x^2 + 5x} + x) = [+ \infty - \infty]$$

$$= \lim_{x \rightarrow -\infty} \frac{(\sqrt{x^2 + 5x} + x)(\sqrt{x^2 + 5x} - x)}{\sqrt{x^2 + 5x} - x} =$$

$$= \lim_{x \rightarrow -\infty} \frac{(\sqrt{x^2 + 5x})^2 - x^2}{\sqrt{x^2 + 5x} - x} =$$

$$\boxed{a^2 - b^2 = (a+b)(a-b)}$$

$$= \lim_{x \rightarrow -\infty} \frac{\cancel{x^2} + 5x - \cancel{x^2}}{|\cancel{x}| \sqrt{1 + \frac{5}{\cancel{x}}} - \cancel{x}}$$

$$= \lim_{x \rightarrow -\infty} \frac{5x}{-x \sqrt{1 + \frac{5}{x}} - x}$$

$$= \lim_{x \rightarrow -\infty} \frac{\cancel{5} \cancel{x}}{-\cancel{x} (\sqrt{1 + \frac{5}{\cancel{x}}} + 1)} = -\frac{5}{2}$$

$$\lim_{x \rightarrow -\infty} (\sqrt{x^2 - 4} - \sqrt{x^2 - 4x + 1}) = +\infty - \infty$$

$$= \lim_{x \rightarrow -\infty} \frac{(\sqrt{x^2 - 4} - \sqrt{x^2 - 4x + 1})(\sqrt{x^2 - 4} + \sqrt{x^2 - 4x + 1})}{\sqrt{x^2 - 4} + \sqrt{x^2 - 4x + 1}} =$$

$$= \lim_{x \rightarrow -\infty} \frac{x^2 - 4 - (x^2 - 4x + 1)}{\sqrt{x^2 - 4} + \sqrt{x^2 - 4x + 1}} =$$

$$= \lim_{x \rightarrow -\infty} \frac{\cancel{x^2} - 4 - \cancel{x^2} + 4x - 1}{|x| \sqrt{1 - \frac{4}{x}} + |x| \sqrt{1 - \frac{4}{x} + \frac{1}{x^2}}} =$$

$$\lim_{x \rightarrow -\infty} \frac{4x - 5}{-x\sqrt{1 - \frac{4}{x^2}} - x\sqrt{1 - \frac{4}{x} + \frac{1}{x^2}}} =$$

$$= \lim_{x \rightarrow -\infty} \frac{x(4 - \frac{5}{x})}{-x(\sqrt{1 - \frac{4}{x^2}} + \sqrt{1 - \frac{4}{x} + \frac{1}{x^2}})} = -\frac{4}{2}$$

$$= -2$$

$$\downarrow$$

$$-2$$

$$\lim_{x \rightarrow 2} \frac{3 - \sqrt{5x-1}}{4-x^2} = \frac{0}{0}$$

$$= \lim_{x \rightarrow 2} \frac{(3 - \sqrt{5x-1})(3 + \sqrt{5x-1})}{(3 + \sqrt{5x-1})(4-x^2)} =$$

$$= \lim_{x \rightarrow 2} \frac{3^2 - (\sqrt{5x-1})^2}{(3 + \sqrt{5x-1})(4-x^2)} =$$

$$= \lim_{x \rightarrow 2} \frac{9 - (5x-1)}{(3 + \sqrt{5x-1})(4-x^2)} =$$

$$= \lim_{x \rightarrow 2} \frac{3 - 5x + 1}{(3 + \sqrt{5x+1})(4-x^2)} =$$

$$= \lim_{x \rightarrow 2} \frac{10 - 5x}{(3 + \sqrt{5x+1})(4-x^2)} =$$

$$= \lim_{x \rightarrow 2} \frac{5 \cancel{(2-x)}}{(3 + \sqrt{5x+1})(2+x) \cancel{(2-x)}} = \frac{5}{6 \cdot 4}$$

$$= \frac{5}{24}$$

LIMITI NOTEVOI

$$\lim_{x \rightarrow 0} \frac{\sin x}{x} = 1$$

$$\Gamma \quad \lim_{x \rightarrow \pm \infty} \frac{\sin x}{x} = 0$$

$$-1 \leq \sin x \leq 1 \quad \rightarrow +\infty$$

$$\begin{array}{ccc} -\frac{1}{x} \leq \frac{\sin x}{x} \leq \frac{1}{x} \\ \downarrow \quad \quad \quad \downarrow \quad \quad \quad \downarrow \\ 0 \quad \quad \quad 0 \quad \quad \quad 0 \end{array} \quad \begin{array}{c} x \rightarrow +\infty \\ \text{ } \end{array}$$

$$\bullet \left[\lim_{x \rightarrow 0} \frac{\sin x}{x} = 1 \right]$$

$$\bullet \lim_{x \rightarrow 0} \frac{\tan x}{x} = \lim_{x \rightarrow 0} \frac{\sin x}{\cos x \cdot x} =$$

$$= \lim_{x \rightarrow 0} \frac{\sin x}{x} \cdot \frac{1}{\cos x} = 1 \cdot 1 = 1$$

$$\bullet \left[\lim_{x \rightarrow 0} \frac{\tan x}{x} = 1 \right]$$

$$\cdot \lim_{x \rightarrow 0} \frac{o(\sin x)}{x} = 1$$

$$\lim_{x \rightarrow 0} \frac{o(\sin x)}{x}$$

$$\begin{aligned} y &= o(\sin x) \\ x &= \sin y \\ \hline x &\rightarrow 0 \\ y &\rightarrow 0 \end{aligned}$$

$$= \lim_{y \rightarrow 0} \frac{y}{\sin y} = 1$$

$$\lim_{x \rightarrow 0} \frac{o(\sin x)}{x} = 1$$

$$\cdot \left[\lim_{x \rightarrow 0} \frac{\sin x}{x} = 1 \right]$$

$$\cos^2 x + \sin^2 x = 1$$

$$\cdot \lim_{x \rightarrow 0} \frac{1 - \cos x}{x^2} = \frac{1}{2}$$

$$\lim_{x \rightarrow 0} \frac{1 - \cos x}{x^2} = \lim_{x \rightarrow 0} \frac{(1 - \cos x)(1 + \cos x)}{x^2 (1 + \cos x)} =$$

$$= \lim_{x \rightarrow 0} \frac{1 - \cos^2 x}{x^2 (1 + \cos x)} = \lim_{x \rightarrow 0} \left(\frac{\sin^2 x}{x^2} \right) \cdot \frac{1}{1 + \cos x}$$

$$= \lim_{x \rightarrow 0} \frac{\sin x}{x} \cdot \frac{\sin x}{x} \cdot \frac{1}{1 + \cos x} = \frac{1}{2}$$

$$\lim_{x \rightarrow 0} \frac{1 - \cos x}{x^2} = \frac{1}{2}$$

$$\lim_{x \rightarrow 0} \frac{a^x - 1}{x} = \ln a$$

$$\forall a > 0 \\ a \neq 1$$

$$\lim_{x \rightarrow 0} \frac{e^x - 1}{x} = 1 = (\ln e)$$

$$\lim_{x \rightarrow 0} \frac{\log_e (x+1)}{x} = \frac{1}{\ln a}$$

$$\forall a > 0 \\ a \neq 1$$

$$\lim_{x \rightarrow 0} \frac{\ln(1+x)}{x} = 1$$

$$\lim_{x \rightarrow 0} \frac{(1+x)^a - 1}{x} = a$$

$$a > 0$$

$$a \neq 1$$

$$\lim_{x \rightarrow 0} \frac{\sin x + 3x + \operatorname{tg} x}{e^x - 1} = \frac{0}{0}$$

$$= \lim_{x \rightarrow 0} \frac{\sin x + 3x + \operatorname{tg} x}{e^x - 1} \cdot \frac{x}{x}$$

$$= \lim_{x \rightarrow 0} \frac{\sin x + 3x + \operatorname{tg} x}{e^x - 1} \cdot \frac{x}{x}$$

$$= \lim_{x \rightarrow 0}$$

$$\frac{\frac{\ln x}{x} + \frac{3x}{x} + \frac{\lg x}{x}}{\frac{e^x - 1}{x}} =$$

$$= \lim_{x \rightarrow 0}$$

$$\frac{\frac{\ln x}{x} + 3 + \frac{\lg x}{x}}{\frac{e^x - 1}{x}} = 5$$

Red annotations: Arrows pointing to the terms $\frac{\ln x}{x}$, $\frac{\lg x}{x}$, and $\frac{e^x - 1}{x}$ with the value 1 written next to them, indicating their limits as $x \rightarrow 0$.

$$\lim_{x \rightarrow 0} \frac{\sin 3x - \sin 2x}{x \cdot \operatorname{tg}(2x)} =$$

$$= \lim_{x \rightarrow 0} \frac{1}{\operatorname{tg}(2x)} \left[\frac{\sin 3x}{3x} - \frac{\sin 2x}{2x} \right]$$

$$\Gamma \lim_{x \rightarrow 0} \frac{\sin 3x}{3x} \stackrel{y=3x}{=} \lim_{y \rightarrow 0} \frac{\sin y}{y} = 1 \checkmark$$

$$\lim_{x \rightarrow 0} \frac{\sin 2x}{2x} \stackrel{y=2x}{=} \lim_{y \rightarrow 0} \frac{\sin y}{y} = 1 \checkmark$$

$$\lim_{x \rightarrow 0} \frac{2x}{\operatorname{tg} 2x} \stackrel{y=2x}{=} \lim_{y \rightarrow 0} \frac{y}{\operatorname{tg} y} = 1$$

RICA TITOLA NDO

$$\lim_{x \rightarrow 0} \frac{\sin 3x - \sin 2x}{x \operatorname{tg} 2x} =$$

$$= \lim_{x \rightarrow 0} \underbrace{\left(\frac{2x}{\operatorname{tg}(2x)} \right)}_{\downarrow 1} \cdot \frac{1}{2x} \left[3 \frac{\sin 3x}{3x} - 2 \frac{\sin 2x}{2x} \right]$$

$\downarrow$

1

$$\lim_{x \rightarrow 0} \frac{1}{2x}$$

NOW EXISTS

In questo $\lim_{x \rightarrow 0^+} \frac{1}{2x} = \frac{1}{0^+} = +\infty$

$\lim_{x \rightarrow 0^-} \frac{1}{2x} = \frac{1}{0^-} = -\infty$

$$\lim_{x \rightarrow 0^+} \frac{\ln(3x - \ln 2x)}{x \lg 2x} = +\infty$$

$$\lim_{x \rightarrow 0^-} \frac{\ln(3x - \ln 2x)}{x \lg 2x} = -\infty$$

$$\lim_{x \rightarrow 0} (e^x + x)^{\frac{1}{x}} = 1^\infty$$

$$= \lim_{x \rightarrow 0} e^{\frac{1}{x} \lg(e^x + x)}$$

$$y = \frac{\lg(e^x + x)}{x}$$

$$\lim_{y \rightarrow ?} e^y = \lim_{y \rightarrow 2} e^y = e^2$$

Devo studiare

$$\lim_{x \rightarrow 0} \frac{\lg(e^x + x)}{x} =$$

$$e^{\frac{1}{x} \lg(e^x + x)} =$$

$$= e^{\lg(e^x + x)^{\frac{1}{x}}}$$

$$= (e^x + x)^{\frac{1}{x}}$$

Si sfrutta la
proprietà che

$$\lg e^x = x$$

$$\wedge \lg e^x = x$$

$$= \lim_{x \rightarrow 0} \frac{\ln(\sqrt{x^2 + x - 1} + 1)}{x} \quad (\text{*)}$$

$$\uparrow \lim_{y \rightarrow 0} \frac{\ln(y+1)}{y} = 1$$

$$\lim_{x \rightarrow 0} \frac{\ln(\sqrt{x^2 + x - 1} + 1)}{x^2 + x - 1} \quad y = \sqrt{x^2 + x - 1}$$

$$= \lim_{y \rightarrow 0} \frac{\ln(y+1)}{y} = 1$$

$$= \lim_{x \rightarrow 0} \frac{\lg(x^x + x - 1 + 1)}{x} =$$

$$= \lim_{x \rightarrow 0} \frac{\lg(x^x + x - 1 + 1)}{x^x + x - 1} \cdot \frac{x^x + x - 1}{x}$$

$$= \lim_{x \rightarrow 0} \left(\frac{\lg(x^x + x - 1 + 1)}{x^x + x - 1} \right) \left[\frac{x^x + x - 1}{x} + \frac{x}{x} \right]$$

$$= 2$$

$$\lim_{x \rightarrow 0} \frac{\lg_2(3x^2 - x + 1)}{n_4^3 x} =$$

$$= \lim_{x \rightarrow 0} \frac{\lg_2(3x^2 - x + 1)}{\left[\frac{n_4 x \cdot x}{x} \right] \left[\frac{n_4 x \cdot x}{x} \right] \left[\frac{n_4 x \cdot x}{x} \right]}$$

$$\lg_2 \left(\frac{\lg_2(3x^2 - x + 1)}{3x^2 - x} \right) \cdot (3x^2 - x)$$

$$= \lim_{x \rightarrow 0}$$

$$\frac{n_4^2 x}{x^3} \cdot x^3$$



$$\lim_{y \rightarrow 0} \frac{\lg_2(y+1)}{y} = \lg_2$$

$$\lim_{x \rightarrow 0} \frac{\lg_2(3x^2 - x + 1)}{3x^2 - x} \quad \underline{\underline{y = 3x^2 - x}}$$

$$\lim_{y \rightarrow 0} \frac{\lg_2(y+1)}{y} = \lg_2$$

$$\textcircled{*} = \lg_2 \lim_{x \rightarrow 0} \frac{3x^2 - x}{x^3} =$$

$$= \lg_2 \lim_{x \rightarrow 0} \frac{x(3x-1)}{x^3} = \lg_2 \lim_{x \rightarrow 0} \frac{3x-1}{x^2} =$$

$$\lim_{x \rightarrow 0^+} \frac{(-1)^x}{x} = -\infty$$

$$\bullet \lim_{x \rightarrow 0} \frac{x^2 - \cos x}{\operatorname{tg}^2 x} =$$

$$\lim_{x \rightarrow 0} \frac{3 - 1 + 1 - \cos x}{\tan^2 x} = 1$$

$\lim_{x \rightarrow 0} \frac{x^3 - 1}{x^2} \cdot \frac{1 - \cos x}{x^2}$
 $\lim_{x \rightarrow 0} \frac{x^3 - 1}{x^2} = \frac{0}{0}$
 $\lim_{x \rightarrow 0} \frac{3x^2}{2x} = \frac{0}{0}$
 $\lim_{x \rightarrow 0} \frac{6x}{2} = 3$
 $\lim_{x \rightarrow 0} \frac{1 - \cos x}{x^2} = \frac{0}{0}$
 $\lim_{x \rightarrow 0} \frac{0 + \sin x}{2x} = \frac{0}{0}$
 $\lim_{x \rightarrow 0} \frac{\cos x}{2} = \frac{1}{2}$
 $\lim_{x \rightarrow 0} \frac{x^3 - 1}{x^2} \cdot \frac{1 - \cos x}{x^2} = 3 \cdot \frac{1}{2} = \frac{3}{2}$

$$\lim_{x \rightarrow 0} \frac{3^x - 1}{x^2} \stackrel{y=x^2}{=} \lim_{y \rightarrow 0} \frac{3^y - 1}{y} = \ln 3$$

$$\textcircled{*} \lim_{x \rightarrow 0} \frac{\lg 3 \cdot x^2 + \frac{1}{2} x^2}{x^2} =$$

$$= \lim_{x \rightarrow 0} \frac{(\lg 3 + \frac{1}{2}) \cancel{x^2}}{\cancel{x^2}} = \lg 3 + \frac{1}{2}$$

$$\lim_{x \rightarrow 0} \frac{\sin^2 x - (1 - \cos x)}{1 - \cos x} =$$

$$= \lim_{x \rightarrow 0} \frac{\frac{x^2}{x^2} - (1 - \cos x)}{x^2} =$$

$$= \lim_{x \rightarrow 0} \frac{\frac{x^2}{x^2} - \frac{(1 - \cos x)}{x^2}}{1} \rightarrow \frac{1}{2}$$

$$\frac{1 - \cos x}{x^2} \rightarrow \frac{1}{2}$$

$$= \frac{1 - \frac{1}{2}}{\frac{1}{2}} = \frac{\frac{1}{2}}{\frac{1}{2}} = 1$$

МЕТОД АЛТЕРНАТИВ

$$\sin^2 x + \cos^2 x = 1$$

$$\lim_{x \rightarrow 0} \frac{\sin^2 x - (1 - \cos x)}{1 - \cos x} =$$

$$= \lim_{x \rightarrow 0} \frac{1 - \cos^2 x - (1 - \cos x)}{1 - \cos x} =$$

$$= \lim_{x \rightarrow 0} \frac{\overbrace{(1 - \cos x)(1 + \cos x)} - \overbrace{(1 - \cos x)}}{1 - \cos x}$$

$$= \lim_{x \rightarrow 0} \frac{\cancel{(1 - \cos x)} (1 + \cancel{\cos x})}{\cancel{1 - \cos x}} = \lim_{x \rightarrow 0} 1 + \cos x = 1$$

